gobgoobooi1egnooan

T22c 000000000000 000000 (II)

0000000000000 O0O00oU0O(ooooog)

0o0oooooooo(IcM)00ooooo0Uo0ooooo0oooooooUooDoooOooooDo
gogboobogoobobogao

() 0000000000000 0D0DO0O0O0DOOOOODOODOOOSNIIODODODOOOODODOOOO
ggobobooooboboooon

(2) 00000 SNlaODOOOOOOODODOOODODOODOOOOOODICM-OOOODOOOOODODOOO
goboo
SNIIOOOOOODOOoOO0OSNlaOODOOooooooooooooobooooobooooooooDo
000((1)O0OO0O (2)oo00ooooooooooU0ooooooDon
XO0Oooooooooooooooobooobooo keVOOOoDOOoobOoobOobOo KOODOOO
gbbuodgbboobboobobouobbobuoboooboobbuoobbuoobboobobo
000000000000000000000000000000000 (n(Fe)/n(H) = 4.68 x 1075)
0035000000000 (n(Si)/n(H) =355x102)00700000SNI0000OO0OOOOO
oo0oOSNIlOOOoOOooOOoooooooooooooooooooobobOoboboboboo
gboobdgobgooboobobbobboo



